

#### KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

Form ACO-1 September 1999 Form Must Be Typed

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

| E086  | 002 24744   |
|---|---|
| Operator: License # 5086  Name: Pintail Petroleum, Ltd. RECEIVED  | API No. 15 - 093-21744 ~ 00-00  |
| 225 N Market Ste 300  | County: Kearny  S/2 - SW Sec. 36 Twp. 22 S. R. 36 East  W West  |
| Address: 225 N. Warket, Ste. 300 MAY 0 4 2004  City/State/Zip: Wichita, KS 67202  |   |
| Purchaser: BP America KCC WICHITA   | 660 feet from S/ N (circle one) Line of Section   |
| Operator Contact Person: Walter Innes Phillips  | 3960 feet from E/ W (circle one) Line of Section  |
|   | Footages Calculated from Nearest Outside Section Corner:  |
| Phone: (316) 263-2243  Chayanna Drilling  | (circle one) NE SE NW SW  |
| Contractor: Name: Cheyenne Drilling   | Lease Name: Kleeman Unit Well #: 2A   |
| License: 5382  Wellsite Geologist: Ron Osterbuhr  | Field Name:  Producing Formation:  Chase  |
|   | Elevation: Ground: 3182 Kelly Bushing: 3188   |
| Designate Type of Completion:   | Total Depth: 2720 Plug Back Total Depth: 2535   |
| New Well Re-Entry Workover  |   |
| Oil SWD SIOW Temp. Abd.   | Amount of Surface Pipe Set and Cemented at 327 Feet   |
| Gas ENHR SIGW   | Multiple Stage Cementing Collar Used? ☐ Yes ✓ No  |
| Dry Other (Core, WSW, Expl., Cathodic, etc)   | If yes, show depth setFeet  |
| If Workover/Re-entry: Old Well Info as follows:   | If Alternate II completion, cement circulated from  |
| Operator:   | feet depth tow/sx cmt.  ALT II JAH 11-16-04   |
| Well Name:  | Drilling Fluid Management Plan  |
| Original Comp. Date: Original Total Depth:  | (Data must be collected from the Reserve Pit)   |
| Deepening Re-perf Conv. to Enhr./SWD  | Chloride content 10,000 ppm Fluid volume bbls   |
| Plug BackPlug Back Total Depth  | Dewatering method used evaporate and backfill   |
| Commingled Docket No  | Location of fluid disposal if hauled offsite:   |
| Dual Completion Docket No   | ·   |
| Other (SWD or Enhr.?) Docket No   | Operator Name:  |
| 11/24/03 11/26/03 12/6/03   | Lease Name: License No.:  |
| Spud Date or Date Reached TD Completion Date or   | Quarter Sec TwpS. R   |
| Recompletion Date Recompletion Date   | County: Docket No.:   |
| INSTRUCTIONS: An original and two copies of this form shall be filed with Kansas 67202, within 120 days of the spud date, recompletion, workove Information of side two of this form will be held confidential for a period of 12 107 for confidentiality in excess of 12 months). One copy of all wireline logs a TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells. | r or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3-and geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells. |
| All requirements of the statutes, rules and regulations promulgated to regulat<br>herein are complete and correct to the best of my knowledge.  | e the oil and gas industry have been fully complied with and the statements   |
|   |   |
| Signature: BUL U. bun   | KCC Office Use ONLY   |
| Title: Geologist Date: 5/3/04   | Letter of Confidentiality Received  |
| ard   | If Denied, Yes Date:  |
| Subscribed and sworn to before me this 3 day of May   | , Wireline Log Received   |
| 20.04.  | Geologist Report Received   |
| Notary Public: Pallua Chegille  | UIC Distribution  |
| Date Commission Expires: 12/11/2005   | PATRICA C. BYERLEE  |
| 1.7000  | NOTARY PUBLIC   |
|   | STATE OF KANS/AS My Appl. Exp. 1214/05  |

| Operator Name: Pinta  | ail Petroleum, L           | td.  | Leas                                | se Name:           | Kleeman Unit      |   | Well #: 2A  |                                 |                          |
|---|----------------------------|--|-------------------------------------|--------------------|-------------------|---|---|---------------------------------|--------------------------|
| Sec. 36 Twp. 22   |                            |  | est Cour                            | nty: Kearr         | ny                |   |   |                                 |                          |
| NSTRUCTIONS: Sho<br>ested, time tool open<br>emperature, fluid reco<br>Electric Wireline Logs | and closed, flowin         | g and shut-in pres<br>es if gas to surface | ssures, whether<br>test, along with | shut-in pre        | essure reached    | static level, hydro                     | static pressu   | res, botto                      | m hole                   |
| Drill Stem Tests Taken  (Attach Additional Sheets)  Samples Sent to Geological Survey  Yes No |                            |  | ] No                                | Log Formation (Top |                   |   | Top), Depth and Datum  Top  Datum                             |                                 |                          |
|   |                            |  | No                                  |                    |                   |   |   |                                 |                          |
| Cores Taken   |                            | Yes  | No                                  | B/ Stone Corral    |                   |   | 2117  |                                 |                          |
| Electric Log Run  |                            | Yes  | No                                  | Hollenberg         |                   |   | 2585  |                                 | +1071<br>+ 604           |
| (Submit Copy)   |                            |  |                                     |                    | ngton             |   | 2616  |                                 | + 572                    |
| ist All E. Logs Run:  |                            |  |                                     | Krider             |                   |   | 2653 + 535  |                                 |                          |
|   |                            |  |                                     | Wint               | field             |   | 2680  | -                               | + 508                    |
|   |                            | C  | ASING RECORD                        | ) \ \ \ Ne         | ew Used           | *************************************** |   |                                 |                          |
|   | Ci-a Hala                  | T  | ngs set-conductor,                  |                    | T                 | 1                                       | T "0.   |                                 |                          |
| Purpose of String   | Size Hole<br>Drilled       | Size Casin<br>Set (In O.D                  |                                     | eight<br>s. / Ft.  | Setting<br>Depth  | Type of<br>Cement                       | # Sacks<br>Used   |                                 | and Percent<br>Additives |
| Surface   | 12-1/4"                    | 8.625                                      | 24#                                 |                    | 327'              | Lite & common                           | 150   |                                 |                          |
| Production  | 7-3/4"                     | 5-1/2'                                     | 14#                                 |                    | 2700'             | Lite                                    | 520   | Pozm                            | nix                      |
|   |                            | ADDI                                       | TIONAL CEMENT                       | TING / SOL         | JEEZE BECORD      |   |   |                                 |                          |
| Purpose:  —— Perforate  —— Protect Casing  —— Plug Back TD                                    | Depth<br>Top Bottom        | Type of Cem                                |                                     | #Sacks Used        |                   |   | ercent Additive   | s                               |                          |
| Plug Off Zone   |                            |  |                                     |                    |                   |   | ***************************************                       |                                 |                          |
| Shots Per Foot  |                            | ION RECORD - Bri<br>Footage of Each Inte   |                                     |                    |                   |   | Shot, Cement Squeeze Record and Kind of Material Used)  Depth |                                 |                          |
|   |                            | ,  |                                     |                    |                   |   |   | L/ L-                           | <b></b>                  |
|   |                            | · ·  |                                     |                    |                   |   |   |                                 | CEIVE                    |
|   |                            |  |                                     |                    |                   |   |   | MAY                             | 0 4 2004                 |
| TUBING RECORD   | Size                       | Set At                                     | Packer                              | At                 | Liner Run         |   | <u> </u>  | nuu                             | WICHI                    |
|   |                            |  |                                     |                    | pan.              | Yes No                                  |   |                                 |                          |
| Date of First, Resumerd   | Production, SWD or E       | Enhr. Produc                               | cing Method                         | Flowing            | g Pumpin          | g Gas Lift                              | Oth   | er (Explain                     | n)                       |
| Estimated Production<br>Per 24 Hours  | Oil                        | Bbls. Ga                                   | as Mcf                              | Wate               | er Bi             | ols. Ga                                 | as-Oil Ratio  | ******************************* | Gravity                  |
| Disposition of Gas  | METHOD OF (                | COMPLETION                                 |                                     |                    | Production Interv | /al                                     | ***************************************                       |                                 |                          |
| Vented Sold (If vented, Subr  | Used on Lease mit ACO-18.) |  | n Hole Pe                           | rf. D              | ually Comp.       | Commingled                              |   |                                 |                          |



SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX SALES & SERVICE OFFICE:

10244 NE Hiway 61 P.O. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX **SALES & SERVICE OFFICE:** 1700 S. Country Estates Rd. P.O. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

#### Invoice

|           |                                       | 1                    | nvoice                                    | e               | •             |             |            |  |
|-----------|---------------------------------------|----------------------|---|-----------------|---------------|-------------|------------|--|
| Bill to:  | •                                     | 7071                 |   |                 |               |             | Order Date |  |
|           | PINTAIL PETROLEUN                     | I LTD                | 31  |                 | h             | 7238        | 11/24/03   |  |
|           | 225 N MARKET #300                     |                      | Come                                      | Service Descrip |               |             | tion       |  |
|           | WICHITA, KS 67202                     |                      | Cemer                                     | III.            | •             |             |            |  |
| !         |                                       |                      |   | Leas            |               |             | Tell .     |  |
| AF        | E CustomerRep                         | CustomonPon          |   |                 | an            | 2- <b>A</b> |            |  |
|           | N Perez                               | Treater  B Drake     | New V                                     |                 | urchase Order |             | et 30      |  |
| <u>D.</u> | <u>Description</u>                    |                      | <u>UOM</u>                                | Quantity        | Unit Price    |             | ice        |  |
| D200      | COMMON                                |                      | SK  | 50              | \$10.39       | \$519.5     |            |  |
| D206      | A-SERV LITE (COMM                     | OM)                  | SK  | 150             | \$8.65        | \$1,297.5   |            |  |
| C310      | CALCIUM CHLORIDE                      |                      | LBS                                       | 472             | \$0.75        | \$354.0     | ` ′        |  |
| C194      | CELLFLAKE                             |                      | LB  | 44              | \$2.00        | \$88.0      |            |  |
| E107      | CEMENT SERVICE CH                     | IARGE                | SK  | 200             | \$1.50        | \$300.0     |            |  |
| E100      | HEAVY VEHICLE MIL                     | EAGE - 1 WAY         | MI  | 90              | \$3.25        | \$292.5     |            |  |
| E104      | PROPPANT / BULK DE<br>MILE, \$200 MIN | ELIV SERVICES/TON    | TM  | 779             | \$1.30        | \$1,012.7   |            |  |
| R201      | CASING CEMENT PUN<br>HRS ON LOC.      | MPER, 301-500' 1ST 4 | EA  | 1               | \$704.00      | \$704.0     | 0          |  |
| R701      | CEMENT HEAD RENT                      | AL                   | EA  | 1               | \$250.00      | \$250.0     | 0          |  |
| •         |                                       |                      |   |                 | Sub Total:    | \$4,818.2   | 0          |  |
|           |                                       |                      |   |                 | Discount:     | \$1,445.9   | 2          |  |
|           |                                       | <b>*</b> P*          |   |                 | Sub Total:    | \$3,372.2   | 8          |  |
|           |                                       |                      | <b>unty &amp; State</b> '<br>Taxable Item | Tax Rate: 5.309 | % Taxes:      | \$67.4      | 0          |  |
|           |                                       | (1) 1                | илавів пет                                |                 | Total:        | \$3,439.68  | 3          |  |

RECEIVED
MAY 0 4 2004
KCC WICHITA



# MAY 0 4 2004 KCC WICHITA

SALES OFFICE:

100 S. Main Suite #607 Wichita KS 67202 (316) 262-3699 (316) 262-5799 FAX SALES & SERVICE OFFICE:

10244 NE Hiway 61 RO. Box 8613 Pratt, KS 67124-8613 (620) 672-1201 (620) 672-5383 FAX SALES & SERVICE OFFICE: 1700 S. Country Estates Rd. P.O. Box 129

EU. Box 129 Liberal, KS 67905-0129 (620) 624-2277 (620) 624-2280 FAX

### Invoice

| Bill to:   |               | •                                  | 1790 In           | voice Inv  | oice Date        | Order Order Da    |             |              |  |
|------------|---------------|------------------------------------|-------------------|------------|------------------|-------------------|-------------|--------------|--|
|            | PIN           | TAIL PETROLEUM L'                  | TD                | 31         | 11101 1          | 1/28/03           |             | 11/25/03     |  |
|            | 225           | N MARKET #300                      | G                 |            | ption            | <b>1</b>          |             |              |  |
|            | WIC           | CHITA, KS 67202                    |                   | Ceme       | nt               |                   |             |              |  |
|            |               |                                    |                   |            |                  |                   |             |              |  |
|            |               |                                    |                   |            | Lease<br>Kleeman |                   |             | Well         |  |
| 4.5        | n 1           |                                    |                   |            |                  |                   |             | 2 <b>-</b> A |  |
| AF         | y.            | CustomerRep                        | Treater           | W          | ell Type   1     | Purchase Order    | Ter         |              |  |
|            |               | R Osterbuhr                        | B Drake           | New V      | Well             |                   | Net         | 30           |  |
| <u>ID.</u> |               | <u>cription</u>                    |                   | <u>UOM</u> | <b>Quantity</b>  | <u>Unit Price</u> | Pric        | e e          |  |
| D204       |               | 0 POZ (COMMON)                     |                   | SK         | 50               | \$6.84            | \$342.00    |              |  |
| D206       |               | ERV LITE (COMMOM                   | )                 | SK         | 470              | \$8.65            | \$4,065.50  |              |  |
| C195       | FLA           |                                    |                   | LB         | 32               | \$7.50            | \$240.00    | ` '          |  |
| C221       |               | T (Fine)                           |                   | GAL        | 291              | \$0.25            | \$72.75     |              |  |
| C310       |               | CIUM CHLORIDE                      |                   | LBS        | 1227             | \$0.75            | \$920.25    |              |  |
| C243       |               | OAMER                              |                   | LB         | 9                | \$3.00            | \$27.00     |              |  |
| C194       |               | LFLAKE                             |                   | LB         | 113              | \$2.00            | \$226.00    |              |  |
| C311       | CAL           |                                    |                   | LBS        | 210              | \$0.54            | \$113.40    |              |  |
| C302       |               | FLUSH                              |                   | GAL        | 500              | \$0.75            | \$375.00    |              |  |
| F101       |               | BOLIZER, 5 1/2"                    |                   | EA         | 10               | \$71.00           | \$710.00    | (T)          |  |
| F191       |               | DE SHOE-REGULAR,                   |                   | EA         | 1                | \$185.00          | \$185.00    | ` /          |  |
| F231       | FLAI<br>5 1/2 | PPER TYPE INSERT F<br>"            | LOAT VALVES,      | EA         | 1                | \$165.00          | \$165.00    | ` /          |  |
| F143       |               | RUBBER CEMENT PI                   |                   | EA         | 1                | \$70.00           | \$70.00     | (T)          |  |
| 7800       | THR           | EADLOCK COMPOUN                    | ND KIT            | EA         | 1                | \$30.00           | \$30.00     | . ,          |  |
| E107       |               | ENT SERVICE CHAR                   |                   | SK         | 520              | \$1.50            | \$780.00    | (1)          |  |
| E100       |               | VY VEHICLE MILEA(                  |                   | MI         | 80               | \$3.25            | \$260.00    |              |  |
| E104       | PROF<br>MILE  | PPANT / BULK DELIV<br>C, \$200 MIN | SERVICES/TON      | TM         | 1804             | \$1.30            | \$2,345.20  |              |  |
| 206        | CASI<br>4 HRS | NG CEMENT PUMPE<br>S ON LOC        | R, 2501-3000' 1ST | EA         | 1                | \$1,533.00        | \$1,533.00  |              |  |
| 2701       | CEMI          | ENT HEAD RENTAL                    |                   | EA         | 1.               | \$250.00          | \$250.00    |              |  |
|            |               |                                    |                   |            |                  | Sub Total:        | \$12 710 10 |              |  |

Sub Total: \$

\$12,710.10

Discount:

\$4,194.33

Discount Sub Total:

\$8,515.77

Kearny County & State Tax Rate: 5.30%

\$197.70

PLEASE REMIT TO Acid Services, LLC, Dept No 1131, Tulsa, OK 74182